HISTOLOGY

EXAM 4B

December 5, 2001

1. Hair and sebaceous glands are derived from epidermis.

a. true

b. false

2. There are no blood vessels in which of these parts of the skin?

a. dermis

b. epidermis

c. hypodermis

d. there are blood vessels in all these parts of the skin

3. Vasoconstriction and vasodilation are functions of which of the following?

a. stratum corneum

b. stratum germinativum

c. zona fasciculata

d. tunica media

e. tunica intima

4. Vasa vasorum are small blood vessels in the walls of larger blood vessels.

a. true

b. false

5. Which are present in the greatest numbers in the blood stream?

a. neutrophils

b. erythrocytes

c. lymphocytes

d. eosinophils

e. monocytes

6. Desmosomes are sometimes visible in which of the following?

a. stratum germinativum

b. stratum spinosum

c. stratum granulosum

d. dermis

e. hypodermis

7. Which has the least cartilage in its wall?

a. secondary bronchus

b. trachea

c. bronchiole

d. primary bronchus

e. tertiary bronchus

8. Which is not true of an average villus?

a. contains many capillaries

b. contains a single lacteal

c. contains connective tissue

d. covered by simple columnar epithelium

e. all of the above are true

9. Which lung structure contains fibroblasts?

a. cartilage ring

b. bronchiole lumen

c. interalveolar septum

d. alveolus lumen

e. alveolar capillary

10. Goblet cells secrete a layer of mucus that protects the stomach from HCL and pepsin..

a. true

b. false

11. Which organ produces the enzyme, trypsin?

a. small intestine

b. stomach

c. parotid gland

d. liver 

e. pancreas

12. Which cells keep the alveoli from sticking together?

a. endothelium

b. type I pneumocytes

c. type II pneumocytes

d. macrophages

e. fibroblasts

13. Which secrete pepsin into the lumen of the stomach?

a. crypts of Lieberkuhn

b. parietal cells

c. chief cells

d. Auerbach’s plexus

e. lacteals

14. Which cells are found in the germinal centers of a lymph node?

a. lymphocytes

b. macrophages

c. chief cells

d. neutrophils

e. all these cells are found in the germinal centers

15. Which vessels does lymph enter from interstitial fluid?

a. capillaries

b. lymphatic vessels

c. veins

d. lacteals

e. arteries

16. Which cells make antibodies?

a. neutrophils 

b. lymphocytes

c. macrophages

d. parietal cells

e. erythrocytes

17. Which is the arrangement of the outermost layers of smooth muscle in the small intestine wall.

a. longitudinal

b. circular

c. oblique

18. Which is a product of serous acini?

a. glucagon

b. amylase

c. pepsin

d. testosterone

e. all of these are produced by serous acini

19. Which cells make up the glomerulus?

a. simple squamous

b. simple cuboidal

c. simple columnar

d. pseudostratified columnar

e. stratified squamous

20. Liver sinusoids carry blood to the hepatic portal vein.

a. true

b. false

21. The triad of structures usually located together at the corners of a hepatic lobule are blood vessels.

a. true

b. false

22. Which filters molecules from the blood?

a. proximal convoluted tubule

b. distal convoluted tubule

c. Bowman’s capsule

d. glomerulus

e. all of these filter molecules from the blood

23. Which contains the most glucose?

a. hepatic vein

b. hepatic portal vein

c. hepatic artery

d. bile canaliculus

e. there is no reason to expect any one of these to contain more glucose than the others

24. Of the different stages of ovarion follicles, Graafian follicles have the most oocytes, primordial follicles have the fewest oocytes, and primary and secondary follicles have intermediate numbers of oocytes.

a. true

b. false

25. Which is produced by seminiferous tubules?

a. eggs

b. testosterone

c. sperm

d. estrogen

e. both b and c

26. Which does not require ATP?

a. muscle contraction

b. muscle relaxation

c. attachment of cross-bridges to thin filaments

d. pumping of calcium into terminal cisterns

e. all of these require ATP

27. A spermatocyte is closer to being able to swim than a spermatid.

a. true

b. false

28. In a contracted muscle cell, which are the widest?

a. A-bands

b. I-bands

c. Z-lines

29. In a sarcomere, calcium ions interact with which of the following?

a. thick filaments

b. cross-bridges

c. thin filaments

d. tropomyosin filaments

e. troponin molecules

30. Which muscle probably has the smallest motor units?

a. gluteus maximus

b. biceps femoris

c. flexor digitorum profundus

d. plantaris

e. flexor hallucis longus

BONUS QUESTIONS

31. When does a myosin molecule undergo a change from its original resting conformation?

a. when it interacts with calcium

b. when it attaches to actin

c. when it attaches to ATP

d. when it contracts

e. when it detaches from actin

32. Where is the enzyme, acetylcholine esterase, located?

a. synapse

b. terminal bulb

c. sarcomere

d. sarcolemma

e. neurilemma

